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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

0-

With the pace of life in Indian metros getting faster by the day, many of the old Indian
traditions have fallen into --—-—--- and are no longer practiced.

1) indifference 2) equilibrium 3) abeyance 4) annoyance

We thought he was reliable till we realized that he had given us a ------— address.

1) dishonest 2) fake 3) skeptical 4} vulnerahle

His expression was gloomy at every game; | don’t think I saw him smile even when his
team ---—----- a hundred points,

1) scored 2) connected 3) achieved 4) displayed

The approaching rain gave us a -----—--- excuse to escape the boring party.

1) harmless 2) monotonous 3) secret 4) plausible

The relationship between the earthworm and the garden is -——-- : the garden provides

a4 home for the earthworm, while the earthworm provides manure for the garden and
keeps it fertile.

1} impractical 2) symbiotic 3) latent 4) paradoxical

When it was discovered that he had been operating as a spy, he was badly ---——- in the
press as being a traitor.

1) incorporated 2) censured 3) concerned 4) constrained
Contemporary research into the origins of DeLong culture indicates that a hunter-
gatherer society was established about 2,000 years earlier than was -----—- thought.

1) similarly 2) sufficiently 3) previously 4) accurately

An attempt was made to ignore this briliant and irregular book, but in ———--- i it was
read all over Europe,

1) jeopardy 2) chaos 3) contempt 4} vain

He strictly warned him that if he did not take the medicine in time, the pain would not

1) subside 2) degrade 3) avoid 4) collapse

To reduce -—------ , the company will no longer mail monthly paper statements to those
with access to online statements.

1) fright 2y hesitation 3) conflict 4) waste

PART B: Clozc Passage

Directions: Read the following passage and decide which choice (1), (2), {3), or {4) best fits each
space. Then mark the correct choice on your answer sheet.

Becoming a mother is a major transition, points out clinical psychologist Ann
Dunnewold. (11) --=-=----- in Dallas. Tex.. provides support for mothers. New mothers
give up autonomy, sleep and relationships (12) ----—------ to the relentless needs of a baby,
On top of that. they are also expected to be in a constant state of bliss and fulfillment
(13) -=-----—-- their new role. “There’s a lot of pressure to be the perfect mother,
(14) ----mmmm- they re not coping.” Leahy-Warren says.
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Making matters worse, research that demonstrates the importance of early childhood

experiences in determining future success and happiness (15) ---------- on moms to get
it right.
11- 1) practices 2) whose practice  3) practicing 4) she practices
12- 1) with tending 2y tend 3) to tend 4} that tend
13- 1)of 2) by 3)in 4) with
14- 1) and they are afraid to say 2) while afraid to say
3) but they say they are afraid of what  4) then they say afraid they are
15- 1) and additional pressure 2) add pressure
3) puts additional pressure 4) and added pressure

Reading Comprehension:

Directions: Read the following three passages and answer the questions by clioosing the best
choice (1), (2), (3), or{4). Then mark the correct choice on vour answer sheel.

PASSAGE 1:

One of the primary ways of approaching the Greek theatre is through archeology. the
systematic study of material remains such as architecture, inscriptions, sculpture, vase
painting, and other forms of decorative art. Serious on-site excavations began in Greece
around 1870, but W. Derpfeld did not begin the first extensive study of the Theatre of
Dionysus until 1886. Since that time. moie than 167 other Greek theatres have been
identified and many of them have been excavated. Nevertheless, they still do not permit
us to describe the precise appearance of the skene (illustrations printed in books are
conjectural reconstructions). since many pieces are irrevocably lost because the
buildings in later periods became sources of stone for other projects and what remains
is usually broken and scattered. That most of the buildings were remodeled many times
has created great problems tor fhose seeking to date the successive versions. Despite
these drawbacks. archeology provides the most concrete evidence we have about the
theatre structures of ancient Greece, But, if they have told us much, archeologists have
not completed their work, and many sites have scarcely been touched.

Perhaps the most controversial use of archeological evidence in theatre history 1s
vase paintings, thousands of which have survived from ancient Greece (Most of those
used by theatre scholars are reproduced in Margarete Biebers The History of the Greek
and Roman Theatre.) Depicting scenes from mythology and daily life, the vases are the
most graphic pictorial evidence we have. But they are also easy to misinterpret. Some
scholars have considered any vase that depicts a subject treated in a surviving drama or
any scene showing masks, flute players. or ceremonials to be valid evidence of theatrical
practice. This is a highly questionable assumption, since the Greeks made widespread
use of masks, dances, and music outside the theatre and since the myths on which
dramatists drew were known to everyone, including vase painters. who might well
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18-

19-

depict the same subjects as dramatists without being indebted to them. Those vases
showing scenes unquestionably theatrical are few in number.

According to paragraph 1, why is it impossible to identify the time period for theaters in

Greece?

1) It is confusing because stones from early sites were used to build later structures.

2) Because it is very difficult to date the concrete that was used in construction during
early periods.

3) The archeologists from earlier periods were not careful, and many artifacts were
broken.

4) There are very few sites that have been excavated and there is very little information
collected about them.

What can be inferred from paragraph 1 about the skene in theatre history?

1) Drawings in books are the only accurate visual records.

2) It was not identified or studied until the early 1800s.

3) Not enough evidence is available to make a precise model.

4) Archeologists have excavated a large number of them.

The word “them”™ in paragraph 2 refers to -————---——,

1) subjects 2) painters 3) the Greeks 4) dramatists

In paragraph 2, the author explains that all vases with paintings of masks or musicians

may not be evidence of theatrical subjects by —-----—-—--,

1) identifying some of the vases as reproductions that were painted vears after the
original

2) arguing that subjects could have been used by artists without reference to a drama

3) casting doubt on the qualifications of the schiolars who produced the vases as evidence

4) pointing out that there are very few vases that have survived from the time of early
dramas

Which of the following statements most accurately reflects the author’s opinion about

vase paintings?

1) There is disagreement among scholars regarding vase paintings.

2) The details in vase paintings are not obvious because of their age.

3) The sources for vase paintings are clear because of the images on them.

4) Evidence from wrilten documents is older than evidence from vase paintings.

PASSAGE 2:

Iron came from West Asia, although its routes of diffusion were somewhat different
than those of agriculture. Most of Africa presents a curious case in which societies
moved directly from a technology of stone to iron without passing through the
intermediate stage of copper or bronze metallurgy, although some early copper working
sites have been found in West Africa. Knowledge of iron making penetrated into the
forests and savannahs of West Africa at roughly the same time that iron making was
reaching Europe. Evidence of iron making has been found in Nigeria, Ghana, and Mali.

This technological shift caused profound changes in the complexity of African
societies. Iron represented power. In West Africa the blacksmith who made tools and
weapons had an important place in society, often with special religious powers and
functions. Iron hoes, which made the land more productive, and iron weapons, which
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21-

22-

made the warrior more powerful had symbolic meanings, in a number of West African
societies. Those who knew the secrets of making iron gained ritual and sometimes
political power,

Unlike in the Americas. where metallurgy was a very late and limited development,
Africans had iron from a relativelv early date. developing ingenious furnaces to produce

the high heat needed for production and to control the amount of air that reached the
carbon and Iron ore necessary for making iron. Much of Africa moved right into the Iron

Age, taking the basic technology and adapting it to local conditions and resources.

The diffusion of agriculture and later of iron was accompanied by a great movement
of people who may have carried these innovations. These people probably originated in
eastern Nigeria. Their migration may have been set in motion by an increase in
population caused by a movement of peoples fleeing the desiceation, or drving up, of
the Sahara. They spoke a language, proto-Bantu ("bantu" means "the people”), which is
the parent tongue of a large number of Bantu languages still spoken throughout sub-
Saharan Africa. Why and how these people spread out into central and southern Africa
remains a mystery, but archaeologists believe that their iron weapons allowed them to
conquer their hunting-gathering opponents, who still used stone implements. Still, the
process is uncertain, and peaceful migration—or simply rapid demographic growth—
may have also caused the Bantu explosion.

Which function does paragraph 1 serve in the organization of the passage as a whole?

1) It contrasts the development of iron technology in West Asia and West Alrica.

2) It discusses a non-agricultural contribution to Africa from Asia.

3) It compares the rates at which iron technelogy developed in different parts of Africa.

4) It introduces evidence that a knowledge of copper working reached Africa and Europe
at the same lime.

According to paragraph 2, which of the following was NOT a social effect of the new metal

technology in Africa?

1) Weapons were made of iron.

2) Iron making was more than a skill.

3) The number of blacksmiths increased.

4) The new metal technology affected agriculture.

The word "ritual" in paragraph 2 is closest in meaning to --—--——----- -

1) ceremonial 2) military 3) physical 4) permanent

Which of the sentences below best expresses the essential information in the underlined

sentence in paragraph 37

1) Iron making developed earlier in Africa than in the Americas because of the ready
availahility of carbon iron ore.

2) Both Africa and the Americas developed the capacity for making iron early, but
African metallurgy developed at a slower rate.

3) While American iron makers developed the latest furnaces, African iron makers
continued using earlier techniques.

4) Africans produced iron much earlier than Americans. inventing technologically
sophisticated heating systems.
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26-

27-

28-

Paragraph 4 mentions all of the following as possible causes of the Bantu explosion
EXCEPT ---remmmmmee- ,

1) superior weapons 2) better hunting skills
3) peaceful migration 4) increased population
PASSAGE 3:

As many as one thousand vears ago in the Southwest, the Hopi and Zuni Indians of
North America were building with adobe—sun-baked brick plastered with mud, Their
homes looked remarkably like modern apartment houses. Some were four stories high
and contained quarters for perhaps a thousand people, along with storerooms for grain
and other goods. These buildings were usually put up against cliffs, both to make
construction easier and for defense against enemies. They were really villages in
themselves. as later Spanish explorers must have realized since they called them
"pueblos” which is Spanish for towns.

The people of the pueblos raised what are called "the three sisters" - corn, beans, and
squash. They made excellent pottery and wove marvelous baskels, some so fine that
they could hold water. The Southwest has always been a dry country, where water is
scarce. The Hopi and Zuni brought water from streams to their fields and gardens
through irrigation ditches. Water was so important that it played a major role in their
religion. They developed elaborate ceremonies and religious rituals to bring rain.

The way of life of less-settled groups was simpler and more strongly influenced by
nature. Small tribes such as the Shoshone and Ule wandered the dry and mountainous
lands between the Rocky Mountains and the Pacific Ocean. They gathered seeds and
hunted small animals such as rabbits and snakes. In the Far North the ancestors of today’s
Inuit hunted seals. walruses, and the great whales. They lived right on the frozen seas in
shelters called igloos built of blocks of packed snow. When summer came, they fished
for salmon and hunted the lordly caribou.

What does the passage mainly discuss?

1) Ceremonies and rituals of American Indians

2) The architecture of early American Indian buildings

3) The movement ol American Indians across North America

4) The way of life of American Indian tribes in early North America

The word "they" in paragraph 1 refers to —------——- .

1) goods 2) eliffs 3) buildings 4) enemies

It can be inferred from the passage that the dwellings of the Hopi and Zuni were

1) very small 2) highly advanced
3) quickly constructed 4) difficult to defend
Which of the following is true about Shoshone and Ute?

1) They hunted caribou.

2) They built their homes with adobe.

3) They did not have many religious ceremonies.

4) They were not as settled as the Hopi and Zuni.
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30-  Which of the following is mentioned by the author as a dwelling place of early North
Americans?
1) Igloos 2) Ditches 3) Log cabins 4) Storerooms
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